Regression Time Series Model

> fit1 = dyn$lm(data2_ts~lag(data3_ts,-1))

> summary(fit1)

Call:

lm(formula = dyn(data2_ts ~ lag(data3_ts, -1)))

Coefficients:

                  

Estimate 
Std. Error 
t value 

Pr(>|t|)    

(Intercept)        
2.43146    
0.06262   
38.83   
<2e-16 ***

lag(data3_ts, -1)  
0.60326    
0.01407   
42.87   
<2e-16 ***

---

Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 

Residual standard error: 0.3568 on 509 degrees of freedom

Multiple R-squared: 0.7831,     Adjusted R-squared: 0.7827 

F-statistic:  1838 on 1 and 509 DF,  p-value: < 2.2e-16
Forecasted Value

> x = .015

> y = sum(x*fit1$coef)

> y

[1] 0.04552072

> z = qt(0.975,260)

> bm = sqrt(x)*z*0.3568/258

> c(y-bm, y+bm)

[1] 0.04518720 0.04585424

ARIMA 

Series: data1_ts 

ARIMA(1,1,2)(0,1,0)[250]                    

Coefficients:

         
ar1      

ma1    

ma2

      
0.9175  
-0.8598  
0.0663

s.e.  
0.0350   
0.0560  
0.0456

sigma^2 estimated as 0.002005:  log likelihood = 854.98

AIC = -1701.97   AICc = -1701.91   BIC = -1683.43

Simulations to generate forecasted values using model above.

